EHREH

&

(50

7T 2R Ll T

M H K EZ & A

TR 30ESH23H
2285009 IRTE

073-435-1199

[EBRE205ICTHESETORKRRIZDODNT] (E4#p)
BRE205IZTHESATORRIEX. XDEBYTT,
1 [ERRE
A H B A P
8H23H OFF12%y [RE.EEZHR EX
8H23H 1785407 | KR Z#HR XX
8H23H 2185409  |HKZH HBR
2 SEEKH
B H B A P
8H23H 9FF12% [FMIFLThKEZR AL HRE
3 HERRE
B H B [ A P ECHES
4 REEEH
B H B [ A P ECHES
8H23H 9FF28%  [AIdEAEEITIE
8H23H 1685205 |THEMMAR4TES 4RI AT BITLIE
5 R SEE FEHERR
A H B *t Ed ECHES
88 23H 1765007 |=aiithX 6,897 tHu 15,340 A HEK
8H23H 1765009  |REI&H X 3,721 fHEs 9171 A it
8H23H 1765009 [ERILUEH#X 945 g 2,895 A it
8H23H 1765007 |FEILELEX 1,955 tHEs 4853 A\ it
6 BHHE
A B B [ *t E S
8H23H 176500 |AUHRO—ER 16 s 36 A R*
8H23H 178500 [Z=H#RX 2,903 tHig 7,393 A R*
8H23H 1785005 |ZIRHEX 3,266 tHig 9,036 A R*
8H23H 1765007 |BE#KX 8,035 tHig 18,383 A R*

1/2R=




7 EEHIER

B IS AT = At o AR E 2 e
BRI/NER 6 tHE 6 A 6 HE 6 A
B2 4 HE 6 A 4 H#E 6 A
= H/NER 1 fHE 1 A 1 HE 1A
BEINER 1 #HE 1 A 1HEHF 1 A
EEINER 2 & 3 A 2 #HE 3 A
GEEESS 0 t#HE 0 A 0 #HEF 0 A
— 2E r2h 3
4'5*4?}{;%%?“*”“ 3 fE 3 Al 3tm 3 A
K=HFELHERS 3 #HE 9 A 3 HH 9 A
ﬁ:l\:l.—T'l't/'sl_ 1 HE 2 A 1THE 2 A
it I35 /NP AR 0 t#H&E 0 A 0 &% 0 A
ETESSE E325 0 t#H&E 0 A 0 fHE 0 A
i%B:E:L_:-‘Mt‘/@— 1 #H®E 2 A 1H#HE 2 A
TR INFR 0 & 0 A OtHe 0 A
TS 0 & 0 A 0O fHeE 0 A
EITE YA 2 fHE 2 A 2 HE 2 A
I ER /N 0 & 0 A 0O tHe 0 A
ﬁiﬁ/l\?ﬁc 3 fH&HE 6 A 3 HH 6 A
EIITE S350 1T #HE 2 A 1 #HE 2 A
I ELER AT 2 fHE 3 A 2 thE 3 Al BFaE |
#ﬁ_ﬁi@f&ﬁj 5 &% 6 A 5 HE 6 Al BEEE
FICHZ AT 5 tHE 7 A 5 e 7 AN BEAEE
PO & RSB P 2 tHE 2 A 2 tHE 2 A| BEME
HINXZAT 3 tHE 4 A 3 tHE 4 Al BIAE |
E’E;’%ﬁ.‘ﬁﬁ_ﬁﬁ 2 fHE 4 A 2 HHE 4 Al BEEE
ME XA 1 fHE 2 A 1 tHE 2 Al BEEEE
E%w%iié.%ﬁ_ﬁﬁ 2 &% 3 A 2 HH 3 Al BEEE
IO 2 HE 3 A 2 e 3 A BEEH
[PARE L T 2 tE 2 A 2 fEH 2 Al BEHH
B LLE SRR 1 #HE 1 A 1 H#HFE 1 A BEEE
MTLUELABR(FKEESD) 5 &% 6 A 5 % 6 Al BEXEE
RBERATH2  hn A 1 #HF 17 A U #FE 17 A B
&t 31 3 71 #H®F 103 A| 71 f#HFH 103 A

2/2R—=2



